
min116mm-max648mm

m
in

1
0
2
m

m
-m

a
x4

0
0
m

m

85mm

2
6
6
m

m

2
3
0
m

m

min45mm-max680mm
+3-3

+8

-12



 The innovative Sliding full-motion mount places 37"-70" TVs just 45 mm 

from the wall, yet still allows full-motion capabilities. Support up to 

40kgs/88lbs, it also passes a four times weight test. This mount slides to 

extend out up to 680mm from wall and allows large TV to swivel left and 

right up to 90 degree. Post-installation level adjustment allows the TV to 

“roll” up to 3o clockwise and counterclockwise to ensure it is perfectly 

level. The LPA35-462 always has a finished appearance with a decorative 

cover that conceals assembly and mounting hardware. 

NO locked function!

-------------------------------------------------------------

Product Feature

-------------------------------------------------------------

- No Tool Assembly allows assembling in minutes with no tools required 

- Sliding long arm offers maximum viewing flexibility 

- Built-in level adjustment ensures perfect positioning 

- Decorative cover conceals assembly and mounting hardware for a 

finished appearance 

-------------------------------------------------------------

Technical data

-------------------------------------------------------------

  Specification:  full motion

By Grade:  Premium Series

By Function:  Full Motion

By Mounting Pattern: Universal

Material:  Aluminum, Steel

1



Available Color: Black

Product Size:  824X430X56mm

Recommended Screen Size: 37"-70"

Installation:  Solid wall, Single Stud

Rated Weight Capacity: 40kgs/88lbs

Strength tested:  4 times approved

Max.Hole Pattern: 648x400mm

VESA Standard:   200x200, 300x200, 300x300, 400x300, 400x200, 

400x400

Max.VESA:  600x400 

Tilt:  -12°~+8°

Swivel: -90°~+90°

Level Adjustment:  -3°~+3°

Profile:  45-680mm

Bubble Level:  No

Anti-theft:  No

Cable Management: No

Wall separated:  No

Panel separated: No

AV Component Mount:  No 

Freely Positioned:  Yes

-------------------------------------------------------------

2



Standard data

-------------------------------------------------------------

-  weight of unit : 5.14kg

- A (unit) x 1

- B (fixed arm) x 2

- C (clip) x 2

- D (Alley key) x 1

- E (wrench) x 1

- M5x14  x4

- M6x14  x4

- M8x20 x 4

- M6x30 x 4

- M8x30 x 4

- M-F (connecting part) x 4

- M-G (spacer) x 8

- M-H (spacer) X 4

- ST6.3X60 (W-A) x 3

- W-B (concrete anchor) x 3

- W-C (washer) x 1

- manual

3




	Ò³Ãæ  1

